LEAL- M- HE

C-1328N @O N E

AR AR

N

E% Feature

o LIAtH2|Z 24O 2 #{u{5}7| h20j QHXBLICt,

o 2 A 18] 718t 513 Bl 7ict Bt

o 20| 40| Bofl S0l 7l0f, ZSot xIx| eresL
ct.

© This set cap covers a screw head to ensure safety.

e Easy installation: Lightly squeeze the cap onto a screw
head.

© The set cap never comes off because its retaining ring
snaps into the cap groove and spins freely.

p @ RHEL ARIAZHSUS304)
o L{EQ} EEO| i WX|

o BEEE-.-g7le 2005 FUAR

=t
==
=t
O
g
x|
-
ES
H
7|
7|

Ral N v I e R (R il P

Nl

=i o 2AISHH 22| 4~ gl | 2o FZoll 2 )
- - StAL
5| FISHA|7| HIZfLICE,
o ZEQ HEZR X|Hol= b2t STX|t 22
Ao ool AIRELICH W2 HE &8 i
I g 2802 £ E2Ut UL
C-1328N-B C-1328N-A o 22| STE RSt YR= MEH FHAL. =0f H%|
(2= =8) (HE =8) STAE AME3H= AR0l= p60mmel M|
Bolt side Nut side B3} 130mmel £O0IS A4 OfEleh 74 2u
Al =
o 40t 2t o| ME 7tzAiLICt sESZ
® C-1328-A-16°B-162 SXIZYLICH MIE]
(et &) o C pE
Washer [T © Material: Stainless steel (SUS304) nr:ﬂ@;

S o Preventing the removal of nuts and bolts o

RENEIES] @ Handle a set cap with sufficient care. It cannot BRI
be removed once it is snapped on. 2
e Install set caps on both ends of piping flanges . o
fastened using bolts and nuts. Two types ;}%Z
of caps are available: those for nuts and for ~ ———————
bolts. i
/I\ | ® Consult with TAKIGEN if a demounting toolis
required. To use a tool, provide an installation 2
area 60mm in diameter and 130mm in height

N

(©

pdi(LIEED
| Only for nut $de $ds at the design stage.
[ ‘ ) o These pri f
N | _ ese prices are for a set of caps and washers.
- ‘ £ ! £ ; ® Products C-1328-A-16 and C-1328-B-16 are
T I ‘ ? i ; no longer manufactured.
— = = = ¢'di
J >
C-1328N-A-B-C C-1328N-A-B C-1328N-C E
AL ofl o o
Example of application =
w
<
o
< Ll
&
C-1328N-A y C-1328N-B / C-1328N-C =
HE 8 —é ge =3 FAIofel LAt 28 e
Nut side Bolt side Q Countersink side
N M N
SEHS RoHS H|Z ac
Product No. [ Remarks oD | ¢di | &dz| dds | Hi | He h Code
C-1328N-C-4 ® | M4 FAHZ| LAk Countersink 18 4.5 9 8 |55 24719
C-1328N-C-5 ® | M5 HAIH2| LIAK Countersink 5.5 10 ’ 24720
C-1328N-A-6 [ M6 LEE Nut 7 6 0I5t less 24721
19 6.3 145] 5.2
C-1328N-B-6 [ J M6 2E& Bolt 24722
C-1328N-A-8 [ J M8 LHE& Nut 223 8.5 8.2 17 6 8 0l5t less 24723
C-1328N-B-8 [ J M8 2E& Bolt ’ ’ 24724
C-1328N-A-10 [ M10 HEE& Nut 11 10 0I5t less 24725
26 10.3 19| 6
C-1328N-B-10 [ J M10 2E8 Bolt 24726
C-1328N-A-12 [ J M12 HEE Nut 30 13.5 13 24 | 65 12 0|3} less 24727
C-1328N-B-12 [ J M12 2E8 Bolt ’ 24728

@®: RoHS10 tHEE A: RoHS100i tHE 7HsELct.

TAKIGEN
& 26

1335




